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QUESTION 1

The town of Greenbody received 10.8 inches of rain in March, 5 inches in April, 3.47 inches in May, and 

0.9 inches in June. 

What was the town\\'s total rainfall over this four-month period? 

A. 14.92 

B. 20.17 

C. 40.17 

D. 4.69 

Correct Answer: B 

 

QUESTION 2

What is the exact value of 0.4 × 3.5? 

A. 13.5 

B. 0.14 

C. 1.4 

D. 14 

Correct Answer: C 

 

QUESTION 3

Sam, Paul, and Dean share a sum of money in the ratio 14:16:18 respectively. Given that Sam receives $2100, how
much does Dean receive? 

A. $2400 

B. $2000 

C. $2700 

D. $5100 

Correct Answer: C 

 

QUESTION 4
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How much more rain did Albany receive than Bunbury on the third of the month? 

A. 0.30 inches 

B. 0.25 inches 

C. 0.35 inches 

D. 0.55 inches 

Correct Answer: C 

 

QUESTION 5

Solve the inequality 17 - 2a 

A. a 

B. a > 5 

C. a 

D. a > 3.5 

Correct Answer: D 

TEAS-SECTION-3 Study
Guide

TEAS-SECTION-3 Exam
Questions

TEAS-SECTION-3
Braindumps

Powered by TCPDF (www.tcpdf.org)

TEAS-SECTION-3 Study Guide | TEAS-SECTION-3 Exam Questions | TEAS-SECTION-3 Braindumps                               3 / 3

https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html
http://www.tcpdf.org
https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html
https://www.pass4itsure.com/teas-section-3.html

